Math 271 - Quiz #2 Score: out of 10.

Name:

- Show all work clearly and in order. Please box your answers. 10 minutes.

1. Find a solution to the following initial-value problem:
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Implicit /Explicit Solution: \J = ~xcos(x) + s (x)

2. (a) Find the general solution of

@.— ef(y + 1)
dz R

X R = ,_' %
_d_ﬁ_ = € dx w=¢€ —b;%%’e'l
\j.\.\ e'z»c"_’_' = Ax:_e_;»\_

\V\\\j-\—l\ = S’_g::', %

iy} = S-—‘-—c\u\ = 4w (04 ¢

Wi .
W {ys1] = 4™ +C €= Tmpkcd S\
y ~ + ) -~ P
“j"‘"’ e e + C S et |’(A€,C = gt (e).t
yti = E e (e 2
dm(e®)
' \j = ke |

Implicit /Explicit Solution:




